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QUESTION 1

Which IPv4 address is in the same network as the IP address 182.15.24.40/23 and assignable to a host device? 

A. 182.15.23.224 

B. 182.15.25.0 

C. 182.15.25.255 

D. 182.15.26.10 

Correct Answer: B 

 

QUESTION 2

Which IEEE standard defines the Data Link Layer, Discovery protocol? 

A. 802.1AB 

B. 802.1AX 

C. 802.1D 

D. 802.1W 

Correct Answer: A 

Reference: http://www.ieee802.org/3/frame_study/0409/blatherwick_1_0409.pdf 

 

QUESTION 3

At which layer of the OSI model is the Rapid Spanning Tree protocol used to prevent switching loops? 

A. Physical 

B. Network 

C. Data Link 

D. Transport 

Correct Answer: C 

 

QUESTION 4

Which flags are used in the TCP header to initiate and end TCP connections or sessions? 

A. Initiate = Acknowledge (ACK) End = Synchronize (SYN) 
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B. Initiate = Acknowledge (ACK) End = Finish (FIN) 

C. Initiate = Synchronize (SYN) End = Finish (FIN) 

D. Initiate = Finish (FIN) End = Synchronize (SYN) 

Correct Answer: C 

 

QUESTION 5

A network administrator created three VLANs on an Ethernet switch. How many broadcast domains are created by the
switch? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 
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